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(1) This question paper contains 30 questions. All questions are compulsory.
(it) Q. 1to 18 carries 1 mark each.
(ii1) Q. 19 to 22 carries 3 marks each.

(iv) Q. 23 to 26 carries 4 marks each.
(v) Q.27 to 30 carries 6 marks each.

General Instructions :

1. ABC Joint Stock Company acts like a normal person because its created by

1

(a) Complicated (b) Shareholder
(¢) Control (d) Law

2. XYZ limited received finance by the issue of shares is called 1
(a) Short term (b) Medium term
(¢) Long term (d) Very-short period

3. In Rural, backward and hilly areas special financial assistance is provided
by 1
(a) Money lender (b) Commercial bank
(¢) Regional Rural Bank (d) Reserve Bank

4.  Which is commonly used by business organisation as a source of short
term financing ? 1
(a) Lease Financing (b) ADR’s
(¢) Trade Credit (d) Debenture

5. Siya wants to take a leave from office. Which method is good for talking
leave in the office. 1
(a) Website (b) Notices/Posters
(¢) E-mail (d) Business meeting

35 Page 3 of 16 P.T.0.



35

T AT TEdt @ fob TR fshan # fohad yq@ aa § 7

(a) 9 b) B:

(c) 9 (d) =W

T 39 Shivd 92 AT <l U9 ! & R YT UTesh i Tehdl & I8 el

few g |

(a) A () femom

(c) feraw d) wleHE

Treistres o o frereni shi HATergehar Bt § |

(@ 10 (b) 3

(c) 15 d 25
Y

Treisties fafteg wrf § stftrean ge= HEETE

(a) 50 (b) 100

(© 200 d) rfafa

frefafad § @ wh o fasra s adem 12 2 2

(a) g 3MTER I fershl
(b) fertrn @ilig o ImaR W fesht
() SUR @ b YR W feshi
(d) o oTTedt o 3MER W fesht
COE
ook H MM Glied o1 Ja8 31T qliehl (HIRad @ :
(a) Toteror g wdie
(b) I g1 Tlig
(c) oo g ailie
(d) Terean geu foshar @ wlig
Page 4 0f 16



35

%ﬁ

X wants to know the number of key elements in the communication

process. It’s
(a) Five (b) Six
(¢) Seven (d) Four

Riya offering goods at a price which customer can afford to pay, is a part of

(a) Selling function (b) Marketing function
(¢) Daistributing function (d) Purchase function
A minimum of directors are required in a Public Company.
(@) 10 (b) 3
(c) 15 d) 25
OR
The maximum number of member in a Public Limited Company can be
(a) 50 (b) 100
(¢) 200 (d) unlimited

Which of the following is not a method of sale ?
(a) Cash basis
(b) Sale on Hire purchase basis
(¢) Sale on credit basis
(d) Sale under installment system
OR
Following is the best mode of purchase of goods in bulk.
(a) Purchase by Inspection
(b) Purchase by Sample
(¢) Purchase by Description

(d) Purchase from the nearest retailers
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Making payment immediately at the time of purchase is called

(a) Cash purchase (b) Credit purchase
(¢) Purchase in instalments (d) Purchase by auction
OR
communication can be inward or outward.
(a) Vertical communication (b) Horizontal communication
(¢) Internal communication (d) External communication

Credit card are used for purchase of Product through

(a) Cash (b) Credit

(¢) Online shopping (d) Off-line shopping
OR

In every purchase the __ pays money to the seller.

(a) shopkeeper (b) buyer

(¢) market (d) producer

Receiving a sale order is an example of

(a) Vertical communication (b) Horizontal communication

(¢) Internal communication (d) External communication
OR

Communication from the senior to subordinate is :

(a) Horizontal communication (b) Informal communication

(¢) Vertical communication (d) Verbal communication

There 1s no need of Salesman in

(a) Automatic Vending Machine (b) Internet Shopping
(¢) Departmental Stores (d) Malls

OR
Sales Promotion can involve all of the following EXCEPT :
(a) Loyalty Program (b) TV Commercials
(¢) Samples (d) Coupons
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Which of these 1s a tool of sales promotion ?

(a) Free Samples (b) Advertisement
(¢) Publicity (d) Personal selling
OR
Essential element of personal selling is
(a) Cheap Product (b) Face to Face Interaction
(¢c) Physical fitness of Saleman (d) Good behaviour of Saleman

A good salesperson should be loyal to :
(a) the customer

(b) the employer

(¢) Both to the employer and customer

(d) Neither to employer non to customer

OR
A departmental store has departments.
(@ 1 (b) 2
(c) 10 (d) Large numbers

Read the following statements : Assertion (A) and Reason (R).

Assertion (A) : Sale of goods and commodities in small quantities
directly to the consumers is Retail Trade.

Reason (R) : Retail Trade does not need sales promotion technique.
Choose one of the correct alternative given below :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(¢c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.
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Read the following statements : Assertion (A) and Reasons (R) : 1

Assertion (A) : If a majority of its share holders are dead, the company
has to be wound up.

Reason (R) : Being a separate legal entity, the death of even all its
members does not affect its life, company is stable.

Choose one of the correct alternatives given below :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) 1s not the
correct explanation of Assertion (A).

(¢c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.

Funds raised through loans or borrowings are 1
(a) Borrowed funds (b) Owner’s equity
(¢) Share capital (d) Government money
OR
Who are called the real owner of the company ? 1
(a) Employees (b) Debenture holders
(¢) Shareholders (d) Creditors
(a) What is Internal Business Communication ? 3
OR
(b) What is meant by vertical communication ? 3

V.K. Publishing house is a Private Ltd. Company. The publishing house
requires huge investment for growth and to expand its publishing house
all over country. For this the board members were thinking to convert
their publishing house into Public Company.

State any three features of a Public Company. 3
Page 11 of 16 PT.0.
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“Sudha likes to buy rare art collection from a particular store”. In the

light of the statement, explain the meaning of speciality stores.

“For the successful running of business it is necessary to know the
difference between owner’s funds and borrowed funds.” State any three

differences between the two.

Due to traffic jam, Mr. Ramesh (CEO of XYZ Co.) could not attend the
scheduled meeting at office. So he decided to take meeting by ‘Tele-

conferencing’. Explain any two benefits of Tele-Conferencing.

(a) Explain any four advantages of Newspaper Advertising.
OR

(b) Explain the concept of ‘Auction Sale’.

A textile company is diversifying and starting a steel manufacturing
plant. For this purpose the company needs additional capital, the
company wishes to raise the required funds by issuing ‘Borrowed funds’.

Explain types of borrowed funds.

(a) State advantages of Internet shopping. (Any Four)
OR

(b) State any four limitations of Internet Shopping.

Page 13 of 16 P.T.0.
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(a) Identify and name the tools of Sales promotion in the following :

(a)
(b)
(©
(d)
()
®

To induce customers to buy a product more frequently.
Useful for drawing attention towards product improvement.
When a new product is to be introduced
To boost up sales in off-season.
Full value of the product returned
30% extra free with a packet of Maggi.

OR

(b) Explain the importance of sales promotion.

(a) Explain any two Barriers of effective communication.

OR

(b) Explain advantages of ‘Voice Mail with Voice Mail Concept’.

Shabnam is a sole proprietor, she wants to change the form of her business.

She is also planning to collect the funds by issue of shares, state who

controls and manages the business after the changed form of business.

Explain any four feature of this form of business.

Mr. Nitin Kumar is working in a Pvt. company. He wants to purchase a
car on installment basis. Giving any three differences between deferred

mstallment method and hire purchase method suggest him the method he

should follow to buy the car.
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